KOLVER

ke easy soblution

Operator’s Handbook

Suspended Arm

SAR15 Z 5
Code: 010690/Z/5

SAR15 XZ 85
Code: 010690/XZ/85

SARI1S XYZ 855
Code: 010690/XYZ/855

KOLVER Srl.

VIA MARCO CORNER, 19/21
36016 THIENE (VI) ITALIA
TEL +39 0445 371068
www .kolver.it



DECLARATION OF CONFORMITY

g

KOLVER Sl

VIA MARCO CORNER, 19/21
36016 THIENE (VI) ITALIA

Declare that the suspended arm here described:

SAR15 Z 5
SAR1S5 XZ 85
SAR1S XYZ 855

Suspended Arm

Is in conformity with the following standards and other normative documents:

2006/42/CE, EN12100.
It is also in conformity with RoHS III normative (2011/65/UE and following 2015/863).

Name: Giovanni Colasante
Position: General Manager
Person authorized to compile the technical file in Kolver

Thiene, January 1st 2021 Grivvanni Colasante



8 XYZ




The new Suspended Torque Arms are the ideal solution to increase productivity. They can
be easily installed on most work stations to help the operator handle the screwdriver in
total safety and stability. With minimized reaction force you will also improve finished
product quality because there is no movement of the tool and all torque is absorbed in the
joint. They also improve the comfort of the operator and the productivity clearing the work
area and maximizing use of the space.

Three models available, depending on the motion of the axis:

SAR15 Z -> Z Axis
SAR15 XZ 85 -> XZ Axis

SAR15 XYZ 855 -> XYZ Axis

SAR15 SAR15 SAR15 L
Z5 XZ 85 XYZ 855

Verticale lenght “Z 364 364 385
(mm)

Horizontal lenght “X / 692 692
(mm)

Lateral lenght “Y”

- / / 376

Torque MAX 15 15 15
(Nm)




Dimensional drawings

Z Arm

103

I
__—Vertical stroke 364 mm
~O
p L
i
U o
Q4
D20
| Clam s Clamp
ST J_,/F‘Iuto-lgcxf / Standard
r g, /
| 1 i
= T =
| _] [ g}
o a [ 54 k:
1

2 Clamp for
/ Angle tools

—25-47 mm



2 x 2 holes 8,5 mme,

69

/

Lateral stroke 374 mm/

22-50

——Verlical stroke 364 mm

8
\,
N
“Orizontal stroke 692 mm
g
wy
D20
4 Clamy ¢ Clamp s Clamp for
2] / Pluto- af / standard / Angle tools
SR | / / 0y
! ﬁ
l I
= } —25-47 mm
\‘25—4? mm
Vertical stroke 885 mim %
=H— &
\Drizonrqi siroke 692 mm
b
P
S
wy
Ciomn (‘lcmp rCnomp for
Plu?o Raf Sfcndcrrd )\'\gle tools

T



Setting

1) To adjust the carriages

First, if necessary, adjust the sliding of
the carriages on the linear bar by acting
on the screws on the carriage itself.
Turning clockwise, the rigidity and the
precision of the arm will increase. Kolver
provides pre-calibrated screws at 0.55
Nm.

2) Toremove the limit switch

The switch limits can be moved and/or
removed by loosening the screw.

Inside the guide it runs the corresponding
square nut on which you will have to
tighten the screw to fix the limit switch.

3) To fix tha balancer

Loosen the supplied M8 screw and fix
the balancer.




4) To insert the horizonal bar (only on XZ and XYZ models)

After removing the limit switch, insert
the horizontal bar on the appropriate
guide of the carriage.

5) To fix the horizontal bar of XZ model

Place the supports to fix the system on
both sides of the horizontal bar.

6) To adjust the tilt of the horizontal bar

Adjust the screws on the rails in order to
give the desired tilt to the bar and, once
released the screwdriver, the carriage
can slide to the default position.




7) To fix lateral bars of XYZ model

8) To fix horizontal bar on XYZ model

On XYZ model, fix the lateral bars with
relative screws at 877 mm from each
other to allow the assembly of the
horizontal bar.

This can even be done after assembling
the whole arm.

Place the horizontal bar as shown in
figure holding the bracket parallel to the
carriage, insert the threaded nuts and fix
both sides.




9) To fix the vertical bar (all the SAR models)

Remove the limit switch (see point 2) and
insert vertical bar (see point 4).
Reassemble the limit switch.

10) To fix the balancer cable on SAR Z and XZ models

Bring the loop to the balancer and clip
the carabiner.

Depending on the weight of the tool
used, turn the knob of the balancer to
find the right setting.




11) To fix the balancer cable on SAR XYZ model

12) To fix the carbon bar on SAR XZ model

Loosen the screw, insert it in the loop of
the balancer and screw it into the nut
inside the rail.

Fix the screw in the desired position,
adjusting the retaining ring in the cable
of the balancer.

Depending on the weight of the tool
used, turn the knob of the balancer to
find the right setting.

Screw the rod bush of the carbon bar on
the threaded pin and secure it with a
18mm wrench.

Tighten the two M4 nut, being careful
not to damage the thread of the pin.

If necessary, you can use the thread lock
to prevent the unscrewing of both nuts
and bush.




Accessories

PLUTO/RAF Clamp - Code 010695

Screw the clamp in the aluminum bush for at
least 5 mm, find the desired position and
tighten nut + washer to lock the rotation.

If necessary, you can use the thread lock to
prevent the unscrewing of this clamp.

To fix the handle RAF / PLUTO, loosen the
screws on the side of the support.

Remove the hook of the screwdriver.

Fit the tool and tighten the two screws on the
hole of the hook.

The other two screws will be only placed in the
housing to prevent any slack.

If necessary, you can use the thread lock to
prevent the unscrewing of this clamp.




Clamp for pistol/angle screwdriver - Code 010695/P

To secure the support of carbon bar, screw
the threaded socket and lock the rotation
with the nut.

To secure the support of XYZ model, first
remove the M4 nuts then the M8 nut and
screw it in the threaded pin this of the
vertical bar. Then block the rotation with
M4 nuts taking care not to damage the
thread, then fix the locknut.

If necessary, you can use the thread lock to
prevent the unscrewing of this clamp.

Universal clamp - Code 010695/UNI

To secure the universal clamp on the carbon bar, tighten the screw M8 x 20 on
the bush bushing and fix the M4 nut to prevent unscrewing.

To secure the support of XYZ model, screw the M8 nut + washer on the threaded
pin of the vertical bar.




